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Jiy fit of Minv for 8.250000 < E <8.850000 accidential corrected

¥2 / ndf 38.86 / 27
Prob 0.0653
p0 54.44 + 9.63
p1 ~17.06 + 3.01
p2 33.85 + 6.40
p3 3.088 + 0.001
p4 0.005553 + 0.000749
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J/yr fit of Minv for 8.850000 < E <9.450001 accidential corrected

12 / ndf

Prob
p0
p1
1 p2
p3
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57.47 / 35
0.009706
28.31+6.96
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Jhy fit of Minv for 9.450000 < E <10.050000 accidential corrected
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59.91/35
0.005464
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Jiy fit of Miny for 10.050000 < E <10.650001 accidential corrected

¥2 [ ndf 84.64 /35

Prob 5.387e-06

pO 10.58 + 5.97

p1 -3.42 +1.90

T p2 18.2 + 4.4
p3 3.093 + 0.002

i p4 0.01447 + 0.00343
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Jiy fit of Miny for 10.650001 < E «<11.250001 accidential corrected

12 / ndf

Prob
p0
p1
p2
p3
p4

60.64 / 35
0.004574

22.64 + 6.65
—6.866 = 2.100
22.99 +6.25
3.091+0.002
0.01492 + 0.00444
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Jhy fit of Miny for 11.250000 < E <11.850000 accidential corrected

¥2 [ ndf 46.21 /33
Prob 0.06319
pO —2.45 +2.01
pi 0.7111+0.6420
—+ p2 17.45 + 4.07
p3 3.092 + 0.002
p4 0.01275 + 0.00251
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flux/600 MeV, pb™
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